(FLecR) 03/04/08

AN Rev F

INJECTOR|SIZE| NOZZLE | THROAT
60080-0 0 |BU10913-0{ BU10914-0
60080-1 1 |BU10913-1|BU10914-1
60080-2 2 | BU10913-2| BU10914-2
60080-3 3 | BU10913-3|BU10914-3
ITEM | QTY | PARTNO. |DESCRIPTION NOM
1] 10227 |INJECTOR SCREEN FILTRE INJECTEUR
2 |1 10328 [3/8"x 1/4" x 90° ELBOW COUDE 90° - 3/8" x 1/4"
3 |1 10329 |3/8" NUT ECROU 3/8"
4 | 1 17776 |INJECTOR BODY 1600 CORPS INJECTEUR 1600
5 |1 23304 |GASKET INJECTOR BODY JOINT PLAT COUVERCLE INJECTEUR
6 | 2 | BRI0692 [SCREW, SLOTIED, INDENTED HEX HEAD, #10 - 24 X 1 5/8 VIS #10 - 24 X 1 5/8
7 | 1 | BU10229 |GASKET INJECTOR BODY JOINT
8 | 1 | BU10330 |SLEEVE (3/8" TUBE) OLIVE
9 | 1 | BRI0332 |FITTING INSERT,3/8 INSERT 3/8
10 | 1 | BU10913-XX |INJECTOR NOZZLE (SPECIFY SIZE) BUSE INJECTEUR (SPECIFIER N°)
11 | 1 | BU10914-XX |INJECTOR THROAT (SPECIFY SIZE) GORGE D'INJECTEUR (SPECIFIER N°)
12 | 1 | BR11893 |INJECTOR COVER COUVERCLE INJECTEUR
13 | 1 | BR16221 |DISPERSER, AR DISPERSEUR, EAU CHAUDE

y

§

INJECTOR ASSY 2510 ( SPECIFY SIZE)

60080-xx

CHAP. 13



